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BACHELOR OF EDUCATION (B.Ed.) 

tr) 
	 Term-End Examination 

December, 2018 

BES-121 : CHILDHOOD. AND GROWING UP 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : 	(i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

Describe the biological perspective of child 
development emphasizing its educational 
implications. 

OR 
Discuss Kohlberg's theory of moral development 
giving suitable example. 

2. Answer the following question in about 
600 words : 

Discuss the growing up experiences of children 
in adverse situations. How should a teacher deal 
with such children ? 

OR 
Elaborate the life-skills needed for self-
understanding and self-management by 
adolescents giving suitable examples. 
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3. 	Answer any four of the following in about 
• 150 words each : 

(a) What is the role of religion in socialization 
of children ? 

(b) What are the characteristics of physical and 
emotional development of children ? 

(c) When do we use an anecdotal record ? 

(d) What is meant by developmental task ? List 
the major developmental tasks for the 
adolescence stage. 

(e) How do media benefit adolescents ? 

(f) Discuss the impact of different parenting 
styles on child development. 

	

4. 	Answer the following question in about 
600 words : 

Explain the meaning of classrOom research. As a 
teacher, discuss the various tools you would use 
to find out common problems in the classroom. 
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